
Division    

Worksheet-1 

A] Choose the correct option. 

1. 9424 ÷ 6 = _____ 

 
a) 1572                      b) 1573 

c) 1571                      d) None of these 

2. 72824 ÷ 4 = _____ 

 
a) 18106                     b) 18306 

c) 18206                     d) None of these 

3. How many pencils can be bought for $ 4165 when each pencil cost 

$ 5? 
 

a) 733                       b) 833 

c) 633                       d) None of these 

4. A packet can hold 8 biscuits. How many such packets will be 
required to keep 75600 biscuits? 

 

a) 9440                      b) 9460 
c) 9450                      d) None of these 

5. A bottle can hold 5 liters of petrol. A tank can hold 12605 liters of 

petrol. How many bottles of petrol will be needed to fill the tank? 

 
a) 2520                      b) 2421 

c) 2221                      d) 2521 

6. In motor bike stock yard 26632 bikes are there. In one row 8 bikes 

can be kept. In how many similar rows all the bikes can be kept? 
 

a) 3329                      b) 2329 

c) 1329                      d) None of these 

© PRAADIS

EDUCATIO
N

DO N
OT C

OPY



7. Julee had 11880 apples, she sold all of them in the market. For 50 

paisa, she gave 9 apples. How many rupees she got after selling all the 
apples? 

 

a) 560                       b) 660 
c) 780                       d) None of these 

8. Bob works 7 hours each day and he charges 15 dollars for a day. 

There is a work which will take 11746 hours and it is assigned to him. 

How much money he will earn after the completion of the work? 
 

a) 25172                     b) 24170 

c) 25170                     d) None of these 

9.How many bundles of 8 pencils can you make out of 40000 pencils? 
 

a) 4000                     b) 3000 

c) 6000                     d) 5000 

10. Each bag can hold 5 oranges, and there are 36500 oranges in all. 
How many bags can be filled? 

 

a) 7200                      b) 7100 
c) 7000                      d) 7300 

B] Divide the given numbers. Find the quotient (Q) and the 

remainder (R). 

(i) 127 ÷ 3 

(ii) 235 ÷ 7 

(iii) 374 ÷ 6 

(iv) 924 ÷ 8 

(v) 267 ÷ 9 

(vi) 903 ÷ 4 

(vii) 3291 ÷ 6 
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(viii) 6687 ÷ 4 

(ix) 1049 ÷ 3 

(x) 6789 ÷ 6 
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